EARAZROREIERT — 2 N—XBISY —F 201851868 (£) 1EIFL1H

KW > %3 #F5 4t 5E] Bk ‘(ﬂi} W ‘[%iﬂ%lﬂsﬁl] - | # () 18000 &
[A&4£] 1 7% :6,000,000 @ 23 :2,400,000 @ 3 3 :1,500,000 @ 4 3 :900,000 5 7% :600,000 [
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 7| 7 RLTR LT 3 EE*B%EJ 1:(5_7).7 3-3-3-2 |39.8(79.2| 9 | 458 %Eg%ﬁ (=)
QEZIELLY b BT MARISEH— () | assags
S WS 4t 3 | EORME 1:58.0 8-8-6-4 |39.7| 76.8 | 1 490 | BRAMA (i)
2 2| ¥T>bIT4 540 @) ) B) HAL - 2K-2
L:winNyahrz B:Hyn—~v1 1> BT 7 —L4
193 f 3 | SHER 1:58.0 1-1-1-1 |40.4| 76.8 | 3 | 478 |FEE (Ei#)
3 111 % 54.0 () (—) | EFFEARR
Z:vn7x% B:UIyTRTIVINL B
. 1EKE— ; ~6-4— 5R (FH)
4l5lg|7RAVT % 3 i (11518/42) 6-6-4-4 |40.2 | 75.2 | 2 (430) hE
Riw>NnNyarHT7r B:JO-NLILT [iEte]
L e N: :58. -15-14~ . . PAEFE (H8)
. ol 7oEEL i 3 Fre 1 (518) 4 15-15-14-14{ 38.2 | 73.3 | 7 (414) Jraris
ZoN4no B:o—Liv7A JT—IWKT7—L
oy, =gy it 3 | AtafE 1:58.4 11-12-12-13| 39.6 | 73.5 | 5 460 |BEFT ()
61111 ReTFH—Ib 54.0 (7€) (—) (E)T'U'”/?—l/—:/‘/7“
LN=v9774 B:raar42 J—YTr—L
G 4 3 | REES 1:58.7 10-10-10-8 | 40.0 | 71.1 | 10 452 | =R (3EH)
] 3|INTXL—F 54.0 (1 3/4) (—) |AMEER
R:ZAv—h77)0> B:XA4Y a0 T7E-L =]
R . LS : 86— #HAEME ()
gl7l13| ¥R UEAL b 4 3 e 1(.15/82.)8 8-8-6-6 |40.5| 70.5 | 13 (450) ://,1%7)?4&1;5
R:F4—TITV5>F B:SELAT %k ¢
. S o FR—1 : ~6-6- TREE (R — b=
9 4|7y NFETF v — o8 | TR 1.(549).5 6-6-6-8 |41.2| 65.4 | 15 (430) 2 EFF%/ >_A
R:If>T75yva B REIFv— [liikse
N 8 o AR :59. -13-13- . . LTRIEZ (ER)
10l8l14 S INATY g % 3 o) i 1(15/92>6 14-13-13-11] 40.6 | 64.2 | 12 (438) e
L:N—=YI54 B:TX5— ZHEKE
R R IFE : —3-4- ArhiER (Xl
1B 5| =RV ITZ<F R 3 2'(070)'8 FoAT 28 ST <4E8) REME EJF%)
LI INATA—H— B:ov A T T74—h KI5
N N FaA M —ER : -11-10- EREME ()
1 6|V XI—H0 i 3 EE 2(;1(1):? 11-11-10-12| 42.1 | 56.4 | 11 (432) ;%f-gﬁ;
R:HYRT4 55X B:hOEHILTY ® s
N ANHEEE : ~5-6- B B%&FA b=
131518 P A 4 3 o 2(;)0@9 5-5-6-8 | 42.7 | 56.3 | 8 (438) i (€35
LG4 RNT—EY BRI TYU— RS EH77—L4
N o SEEAH :01. 20— . . E2ILER (EH)
1407 12| 7> 4 —XF v =)L IR it 20 N R e (436) ISR
Ritrs/o7oqd BT H—TFLLy b T8 T 7 — I
-2 o 5 4 3 | FlaEX 2:02.8 13-14-15-15| 42.0 | 41.5 | 4 484 | REHL (ER)
15/8 15| =~/ NEX A 54.0 (10) ) |ElEE
L:ErFOvY B:FIATIVNR N Chae]
@ 1L
£ 52.9-40.1
NA>Z24 L | 12.9-11.8-13.3-13.7-13.1-12.8-13.0-13.1-14.0
@ 1 —F—@EBIEf
13=3F= 11,12(5,7)8(4,9)-(2,13)-3(1,6)15,14-10
Pal=5F= 11,12(5,7)8(4,9) (2,13)-3,6,1,14,15-10
== 11,12,7(5,9) (4,8,2,13)-(3,6)1,14=10-15
43—+ — 11(12,7) (2,9)13-5(4,8,3)14,6,1-10=15
[ RN
= 7 5,260/ 714K 2-7 2,580M B 2-4 4,790M JEE 2-7-11 11,350H
# B 7 970M 7=l 2,770 B = 2=/ 7,690M JEH 7=2=1 136,180H
2 1609 2-11 420M B H 7-2 26,6004
1 180

ABICOVWTRDTEEERROODE. TR LIV,



